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1. Introduction
In last meeting, a WF on ATG simulation scenario has been approved [1]. In this contribution, we focus on the remaining simulation parameter discussion. The remaining issue is how to simulate the worst deployment case for non-synchronized gNB-gNB interference.
2. Discussion
Last meeting agreement is listed as below:
	Following list one example for illustration of the isolation distance simulation layout for non-synchronization scenarios.
· if isolation distance between TN cluster and ATG BS is larger than 20/50km, ATG UE is always on top of TN cluster
· if isolation distance between TN cluster and ATG BS is less than 20/50km, ATG UE is dropped 20/50km distant from ATG BS
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For non-synchronization ATG-TN operation, isolation distance is the final simulation metric. Following lists the isolation distance definition to make final simulation results aligned.
Proposal 1: for non-synchronization case, isolation distance is the distance from ATG BS to the nearest TN BS.
To simulate isolation distance between ATG BS and TN BS, two cases need to be considered
· one is that ATG cell coverage overlaps with TN. 
· the other is that ATG cell coverage doesn’t overlaps with TN. 
Observation 1: above list two cases for non-synchronization simulation.
2.1 ATG BS coverage overlaps with TN coverage
For ATG cell coverage overlaps with TN, operators use the same operation band for ATG and TN network in the same area. But the TN coverage is not contiguous so that there is isolation between Tn BS and ATG BS. 
Observation 2: For ATG cell coverage overlaps with TN, operators use the same operation band for ATG and TN network in the same area. But the TN coverage is not contiguous so that there is isolation between Tn BS and ATG BS.
The worst case for ATG BS and TN BS deployment simulation is illustrated as below:
· The ATG BS sector should be pointing towards at nearest TN sector in azimuth
· Nearest TN sector antenna panel mechanically point at ATG BS in azimuth but electrically point at UE which is random in 120degree horizontal coverage 
· The ATG BS point at ATG UE while ATG UE fly in horizontal and vertical domain as assumed for synchronized cases.
Proposal 2: for the case when ATG network coverage overlaps with TN, the worst deployment relationship between ATG BS and TN BS is listed as above with following illustration. 


Another issue is the test metric, for this case, it seems 5% and 50% among all victims are not appreciate. Instead, we could only focus on the worst TN sector when TN as victim and 5% worst ATG BS among all drops when ATG BS as victim.  
Proposal 3: for non-synchronization case, we can only focus on ATG BS-TN BS co-existence analysis, the test metric is listed as below:
· When TN as victim, only focus on the nearest TN sector, 5% and 50% among all drops of the nearest TN sector
· When ATG as victim, 5% and 50% among all drops.
2.2 ATG BS coverage doesn’t overlap with TN coverage
For the other case when ATG network coverage doesn’t overlap with TN coverage, the isolation distance is used to guild under which isolation distance the operator could use the same ATG operation bands for TN network. 
Observation 3: For the other case when ATG network coverage doesn’t overlap with TN coverage, the isolation distance is used to guild under which isolation distance the operator could use the same ATG operation bands for TN network.
The worst case for ATG BS and TN BS deployment simulation is illustrated as below:
· Nearest TN sector antenna panel mechanically point at ATG BS in azimuth but electrically point at UE which is random in 120degree horizontal coverage 
· The ATG BS point at ATG UE but perpendicular to the line towards nearest TN BS in azimuth
· The ATG BS point at ATG UE while ATG UE fly in horizontal and vertical domain as assumed for synchronized cases.
Proposal 4: for the case when ATG network coverage overlaps with TN, the deployment between ATG BS and TN BS is listed as above with following illustration.
. 


The same as overlapping case, the test metric is listed as below, we can only focus on ATG BS-TN BS co-existence analysis, the test metric is listed as below:
· When TN as victim, only focus on the nearest TN sector, 5% and 50% among all drops of the nearest TN sector
· When ATG as victim, 5% and 50% among all drops.
3. Conclusions
In this contribution, ATG simulation parameters are discussed with following observations and proposals:
Proposal 1: for non-synchronization case, isolation distance is the distance from ATG BS to the nearest TN BS.
Observation 1: following list two cases for non-synchronization simulation.
· one is that ATG cell coverage overlaps with TN. 
· the other is that ATG cell coverage doesn’t overlaps with TN.
Observation 2: For ATG cell coverage overlaps with TN, operators use the same operation band for ATG and TN network in the same area. But the TN coverage is not contiguous so that there is isolation between Tn BS and ATG BS.
Proposal 2: for the case when ATG network coverage overlaps with TN, the worst deployment relationship between ATG BS and TN BS is listed as below with following illustration. 
· The ATG BS sector should be pointing towards at nearest TN sector in azimuth
· Nearest TN sector antenna panel mechanically point at ATG BS in azimuth but electrically point at UE which is random in 120degree horizontal coverage 
· The ATG BS point at ATG UE while ATG UE fly in horizontal and vertical domain as assumed for synchronized cases.


Proposal 3: for non-synchronization case, we can only focus on ATG BS-TN BS co-existence analysis, the test metric is listed as below:
	When TN as victim, only focus on the nearest TN sector, 5% and 50% among all drops of the nearest TN sector
	When ATG as victim, 5% and 50% among all drops.
Observation 3: For the other case when ATG network coverage doesn’t overlap with TN coverage, the isolation distance is used to guild under which isolation distance the operator could use the same ATG operation bands for TN network.
Proposal 4: for the case when ATG network coverage overlaps with TN, the deployment between ATG BS and TN BS is listed as above with following illustration.
· Nearest TN sector antenna panel mechanically point at ATG BS in azimuth but electrically point at UE which is random in 120degree horizontal coverage 
· The ATG BS point at ATG UE but perpendicular to the line towards nearest TN BS in azimuth
· The ATG BS point at ATG UE while ATG UE fly in horizontal and vertical domain as assumed for synchronized cases.
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